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There is a popular rule of thumb for long-term investors of securities: 60/40, 60 percent 

equities, 40 percent bonds – and take out no more than 2 percent annually of net asset 

value. In this way assets are not only preserved but can continue to gain in value over time. 

When stock prices have increased a lot while bond prices have fallen – as long-term interest 

rates have increased – financial investors have to sell equities and to buy bonds until the 

desired equilibrium has been reached again. For US markets this presently means to turn 

book profits on equities into realized profits and use revenues to buy, for instance, 10-year 

US Treasuries. A similar strategy makes sense for German and other European securities 

markets, but the need to change allocations is less pressing – if there is any at all. 

Over time, equities are the better alternative and should be overweighted in securities 

portfolios. The so-called risk premium, the annual extra return compared to bonds of 

trustworthy issuers, is historically between three and six percentage points. This is the 

compensation for the risk that stocks may become worthless as companies' profits decline 

or turn into losses, or that firms disappear. The higher the risk premium the better the 

protection against falling stock prices, ceteris paribus. Whether the premium should be 

three or six percentage points, or even more, cannot be answered once and for all. Stock 

prices reflect expected earnings per share as well as the expected returns of alternative 

assets, such as real estate, commodities, or bonds. There is no “correct” level of stock prices. 

 

With somewhat more confidence we may determine whether the risk premium is high or 

low compared to what has been observed in the past. Price-earnings (P/E) ratios are usually 

available for equities or a stock index which allows me to calculate the so-called earnings 

yield, the inverse of the pe-ratio. A P/E ratio of 20 is the equivalent of an earnings yield of 5% 
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(1/20 = 5), one of 10 translates into a yield of 10%. If the “real yield” of a long-term 

government bond is, for instance, 2%, the risk premium is three percentage points in the 

first case (5 - 2 = 3), and eight points in the second case (10 - 2 = 8). A stock with a P/E ratio 

of 20 is considerably more expensive than one with a ratio of 10. The difference is caused by 

investor expectations about future per share earnings – if the ratio is high the consensus will 

be that earnings will rise faster than those of the “cheaper” company. This may turn out to 

be correct – or not. 

The P/E ratio for the MSCI US stock market index (more precisely: its “CAPE”, the cyclically 

and inflation adjusted P/E ratio) has recently been at about 32 which translates into an 

earnings yield of 3.1%. 10-year US Treasuries, on the other hand, are presently yielding 

around 4% which, taking into account long-term inflation expectations of 2 ½ percent, is the 

equivalent of a real “riskless” yield of 1.6% and a risk premium of just 1.5 percentage points. 

Whenever the risk premium was so low / the P/E ratio so high markets have corrected 

significantly. From today’s perspective I would add that the short-term outlook for the 

economy and corporate earnings is deteriorating. If investors find this sort of analysis 

plausible, they should change their allocations: sell stocks, buy Treasuries or other high-

quality dollar bonds. Such re-allocations should take place on a regular basis in any case, like 

once a year or once a quarter, but, because of transaction costs, not too frequently. 

 

As mentioned above, the need to act on the portfolio structure is less urgent in Germany 

and other European markets. The long-term P/E ratio of stock market indices has recently 

been around 20 which corresponds to an earnings yield of 5%. At the same time, the 

nominal yield of 10-year German government bonds is in the order of 2.5% and is thus 

almost the same as long-term inflation expectations – which results in real bond yield of 

between zero and 0.5%, and thus an equity risk premium of no less than 4½ to 5 percentage 

points. 
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To be sure, the level of CAPE has occasionally been a lot higher than today: in Germany it 

had reached 59 in 2000, the year of the dotcom bubble, and 32 in 2007, just before the 

Global Financial Crisis. In Western Europe as a whole, the ratios were similar in those two 

years: 43 and 26. In other words, today’s average stock prices are presently near a “normal” 

level while real euro-denominated government bond yields are so low that a major 

reshuffling between asset classes does not make much sense. This can – and probably will – 

change once the overvalued US stock market corrects in earnest. Because it is so much 

bigger and so much more liquid than stock markets on this side of the Atlantic, and because 

the arbitrage relationship is so strong, it calls the shots. When it comes down, Europe will 

come down as well. Investors can only hope that the decline will be more modest – because 

valuations are more reasonable. 
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